V-, Vo,
Via=(
Vio=V. /0,95
Vo, V.,

1,

700 A/nm

L ,Lj-Daten
L =(Cot+ 02
Lo=L /0,44
Lio, Lits

1,0

0,51

0,01

~

m=0,44
Schwelle

los

EG470-5A

=( ot Lo)/2

lo =

log  0=-0,35u)-u ]

log©0=-0,35u,-u. ]

logL o=—0,35[u)~Us7d?
570 Adaptation: A =

1,0

0,51

0,01

Schwelle

EG470-7A

Un=(A — 550) / 50
log Vo =-0,35y~U:.]?
logL o =-0,35[\~Us7d?

___ 109V =-0,35[1-Uss1?

> /570 Adaptation: A =557

maximum
log(V ' m)=-0,02
m=0,95

ux

uy=(\ — 550) / 50
0,35[,-u ]2
logLo =—0,35[Uy~Uszq 2
log ¢=-0,35u)-u 12
400NB70Q4% s, Adap.: A =570

maximum

log(L  m)=-0,39
% L m=0,44

uy=(A - 550) / 50
log ¢=-0,35[u\—u 1?
log ¢=-0,35u\-u ]
log©o=-0,35uy-u: ]

2

N

maximum

ux

700 A/nm

Uy=(A - 550) /5

maximum

ux

700 A/nm

u=(\ - 550) / 50
logo=-0,35[u-u. - ]?
logL o =—0,35[u)~Us7d?
Adaptation: A =545

uy=(A = 550) / 50
log o =-0,35[u)-u I
log =-0,35u\—u

uy=(A — 550) / 50
log ¢=-0,35u\~-u 12
log ©o=-0,35luy-u. - ]?

log =-0,35u\—u
|OgL0:—O,35[J)\—U570]2
= =M |=| 6-Ml/0,81 |og 4 =-0,35[\-u . ]?
Ye=M - =[ o‘Bo]/0,85170 Adaptation: A =520




